Construction division. Advice for giving credit to contractors/suppliers.

D1 3								
regis	lo. – site bills	1016	2		- site bil	ls	16/05	22
	pany Name:	1218					0	0
		MEW	LLP.	Site:			G- M.	
	e of Contractor	G.S	unith	ci.				
	re of work	Paruti	The same of the sa	008ks				
wor	k done	From Dat	e	1-02-2	-2 To	Date	27-6	3-22
SI. No.	Villa/Flat/block no	. Qty.	R	ate	Units	Amo		Contractors bill no
1.	B-Block : 601,	3	012	11.75	fide	35	5391	
2.	602,604,60	5						
3.	607, 608	,						
4.	Balcony &							
5.	utelità ad	14						
6.	works.	X						
7.								
8.								
9.								
10.								
11.	T	otal:				_	391	
Bill 1	required	YES I	NO.		bill req		YES	
1	surement &	Requir			suremer		9 Encl	
	nate sheet:	□ Not rea	quired		WO date		U NOT	enclosed
PO/V	VO no.							
Rema	arks:	Balo	ny &	Uti	lity	P	why	1008/4
Completed.								
Appr	roved by Project M	anager	Approv	ed by De	sign Tea	ım /	Approved	by M.D.
Date	17/0	55/84	Date:]	Date:	
Sign	1		Sign:			1	Sign:	

Notes: 1. This advice must be sent within 7 days of completing work, 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

	The second name of the second na	,	The second secon			
					601,602,604,605,607,608	
					Flat Nos	
35,391	11.75	Sft	3012	Balcony And Utility	B-block	1
Amount	Rate	Units	Quantity	Description	Item Head	S No.
					24-05-2022	Date:
					Srinivas N	Prepared By
					G Sunitha	Contractor Name: G Sunitha
					Work Description: B-block External painting	Work Description:
		Sign:			Gulmohar Residency.	Project:
		Approved by:			Company Name: MRMallapur LLP	Company Name:
					ET	ESTIMATE SHEET
The state of the s	The second name of the second na	THE RESIDENCE AND ADDRESS OF THE PERSON NAMED IN COLUMN 2 IS NOT T				THE RESIDENCE AND PERSONS ASSESSMENT OF THE

. .

Company Name: MR	Mallamitta							
	ATT Independent				Approved by:		Ramprasad	
	Gulmohar Residency.				Sion.			
escription:	B-block Balcony and Utility painting	Jtility painting			0.61.			
	G Sunitha							
Prepared By Srir	Srinivas N							
	24-05-2022							
			A	В	C	D	E= AxBxCxD	H
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
1 B B	B Block	Birla Putty Work Walls	7.5	_	9.5	2	142.5 Sft	Sft
Bal	Balcony	Ceiling	10.66	7	_		74.62 Sft	Sft
Fla	Flat No 101	Near French Window	1.33	_	9.5	2	25.27 Sft	Sft
			0.33	10.66	_	2	7.04 Sft	Sft
			2.83	10.5	_	_	29.715 Sft	Sft
		Outer Beam	2	10.66	1	1	21.32	Sft
		Below Balcony Railing	0.5	10.66	_	_	5.33 Sft	Sft
Utility		East and West Walls	8	_	6.5	2	104	Sft
			4.5	_	6.5	_	29.25 Sft	Sft
			4.5	_	6.5	_	29.25 Sft	Sft
		Door Deduction	-2.5	_	ω	_	-7.5 Sft	Sft
		Beam Bottoms	7.83	0.33	_	_	2.58 Sft	Sft
			4.5	0.33	1	2	2.97 Sft	Sft
		Ceiling	7.83	1	4.5	_	35.235 Sft	Sft
							502 Sft	Sft

Bill for Labour Charges..

G Sunitha. Hyderabad.

Date: 17.04.22

In favor of: Project / Site: MRMallapurLLP' Gulmohar Residency

Location:

Mallapur

Type of Work: Towards: Painting work done at B-block Allowance for Labour Charges.

S No.	Description	Amount
1.	Brief description of work done: Towards Balcony Putty painting work done in B-block Flat nos 601 502 604 605 507 608	Rs. 14156/-
	Total Amount = 35391 /- Work done from date : 21.02.22 to 27.03.22	
	AND AND SEE STATE OF THE SECOND	

Amount in words: Fourteen Thousand One Hundred and Fifty Six Rupees Only.

Sign:

Allowance for Consumables

G Sunitha. Hyderabad.

Date: 17.04.22

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work: Towards:

Painting work done at B-block

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards Balcony Putty painting work done in B-block Flat nos 601,502,504,605,607,608 Total Amount = 35391 /- Work done from date: 21.02.22 to 27.03.22	Rs.7078/-
	Work done from date . 21.02.22 to 27.00.22	

Amount in words: Seven Thousand and Seventy Eight Rupees Only.

Sign:

Bill for Equipment Allowance

G Sunitha. Hyderabad.

Date: 17.04.22

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Painting work done at B-block

Towards:

Allowance for Equipment.

S No.	Description	Amount
1.	Brief description of work done: Towards Balcony Putty painting work done in B-block Flat nos 601,502,604,605,607,608 Total Amount = 35391 /- Work done from date: 21.02.22 to 27.03.22	Rs. 14156/-

Amount in words: Fourteen Thousand One Hundred and Fifty Six Rupees Only.

Sign: Sign: